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| | | | | 308 1 462 (3.0/2.1)

| | | | | 308 = O0:

| | | | | | 52 253 = 1: 464 (3.0/2.1)
| I I | 52 253 = 0

| | | | | | | 52 99 = 0: 401 (9.0/
| | | | | | | 52 99 = 1: 464 (2.0/
| | | | 205 273 = 1:

| | | | | 308 253 = 1: 462 (8.0/4.5)

| | | | | 308 253 = O0:

| | I R27 4 0: 464 (20.0/9.0)

| | | | | | 227 = 1: 462 (5.0/3.2)

| | 56 = 1:

| | | 36 204 = 1: 462 (3.0/2.1)

| | | 36 204 = 0

| | | | 205 = 0 464 (16.0/7.9)

| I | I 205 = 1

| | | | 0/ 3.1) 273 = 0: 786 (4

| | | | | 273 = 1: 464 (2.0/1.0)

| 304 = 1

| | 160 = 1: 493 (2.0/1.8)

| | 160 = 0

| | | 253 = 1: 464 (21.0/9.1)

| | | 253 = 0:

| | | | 308 = 0 464 (3.0/2.1)

| | | | 308 = 1 493 (5.0/3.2)

Sub{Be6]

304 = O0:

| 173 = 0:

| | 52 177 = 0:

| | | 236 = 1: 242 (2.0/1.8)

| | | 236 = O0:

| | | | 204 = 1: 462 (5.0/4.1)

| | | | 204 = O0:

| | | | | 52 308 = O0:
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-

| | | | 132 = 1: 462 (4.0/1.2)
| | [ 132 = 0:
| | | | | 227 = 1: 462 (7.0/ 2.
I I I I I 227 = 0O
| | | | | | 160 = 0: 465 (7
| | | | | | 160 = 1: 462 (3.
| [ | 52 308 = 1:
| | [ | 36 = 1: 784 (2.0/1.0)
I I I I 36 = 0:
| | | | | 205 = 1: 462 (5.0/ 3.
I I I I I 205 = O
| | | | | | 253 = O0: 464 (5
| 3 = 11 462 (6.0/ 4. 3) 25
52 177 = 1:
| 23 = 1: 464 (3.0/2.1)
| 23 = 0:
| | 36 = 0:
| [ [ 52 308 = 1: 464 (5.0/3.2)
| | | 52 308 = 0:
| | | | 205 = 1: 462 (4.0/3.1)
| | 205 = 0:
| | | [ | 52 253 = 0: 784 (25.
| | | | | 52 253 = 1: 462 (2.0
| | 36 = 1:
[ | | 204 = 0: 401 (8.0/6.3)
| | | 204 = 1.
| O0: |784 (4.0/R.2) 93 =
| | [ | 93 = 1: 462 (2.0/1.0)
73 = 1:
253 = 1: 461 (2.0/1.8)
253 = 0:
| 227 = 0: 462 (7.0 4)
| 227 = 1: 464 (3.0 1)
1 -
3 = 1: 462 (2.0/1.0)
3 = 0:
. 4883(F. W 2.1)
253 = 1: 427 (3.0/2.1)
ee [ S11]
1: 493 (4.0/2.2)
0:
4 14 = 1: 558 (4.0/3.1)
4 14 = 0:
44 = 1: 386 (4.0/2.2)
44 = O0:
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Subt

NN
TGN
~N ~

Subt

93

462 (104.0/58.0)
205 = 1:
| | | 273 = 1. 464 (2.0/1.0)
| | | 273 = O0:
| | [ | 52 308 = 0: 460 (4.0/
| | [ | 52 308 = 1: 413 (2.0/1
| 116 = 1:
| | 36 04 = 0:
36 = |0: 464 (7.0/3.4)
| | | 36 = 1: 462 (3.0/2.1)
| | 36 204 = 1:
| | | 177 = 0: 401 (8.0/2.4)
| | | 177 = 1:
| | | | 308 = 0 386 (2.0 8)
| | . 2]) | 308 = 1 413 (5.0/
[ S12]
490 (7.0/72.4)
= 0:
173 = 1: 242 (2.0/71.8)
173 = 0:
| 56 = 1: 490 (4.0/2.2)
| 56 = 0:
| | 93 = 0: 465 (16.0/9.8)
| | 93 = 1: 493 (6.0/3.3)
= 1:
308 = 0 246 (2.0/1.8)
308 = 1 490 (2.0/1.8)
[ S13]
462 (3.0/2.1)
273 = 1: 280 (2.0/71.8)
273 = 0:
177 93 = 0:
| 64 = 1: 464 (6.0/5.1)
| 64 = O0:
| O: | 52 177 =
| | | 308 = 0 464 (24.0/12.2)
| | | 308 = 1 413 (21.0/13.0)
| | 52 177 = 1:
| [ | 52 253 = 0: 413 (15.0/6.8)
| | | 52 253 = 1: 464 (3.0/1.1)



| | 177 93 = 1:

| I 64 (228B1=0): 4

| | | 253 = 1

I I | | 14 = 0: 162 (2.0/1.38)

| | | | 14 = 1: 462 (2.0/1.0)

Subtree [S14]

11 = 1: 493 (2.0/1.8)

11 = 0:

| 14 = 0:

| | 270 = 1: 413 (4.0/3.1)

| | 270 = 0:

| | | 44 275 = 1: 427 (3.0/2.8)

| | | 44 275 = O0:

| | | | 173 = 1: 462 (4.0/2.2)

I I I I 173 = 0:

I | | | | 308 = O0:

I I I I | | 23 = 1: 464 (2.0/1.0)

I I I I I I 23 = 0:

I I I | | | | 160 = 0: 786 (47.0/2
I || || | | 160 = 1: 464 (2.0/1.0)

I | | | | 308 = 1:

I I | | | | 160 = 1: 786 (2.0/1.0)

I I I I I I 160 = 0

I I I I I | | 144 = 1: 786 (7.01/3
I I I I I I I 144 = 0:

I I I | | 116 = 1 464 (2.0/1.8)

I I I I I I I I 116 = 0:

I I I I I I I I I 177 93 =1
I I I I I I I I I 177 93 = 0:
I I I I I I I I I | 253 =
|| I I I I I I I I 253 = 1:
| 14 = 1:

| | 177 = 1 786 (12.0/6.7)

| | 177 = O0:

| | | 253 = 0: 413 (6.0/3.3)

| | | 253 = 1: 162 (2.0/1.8)

Subtree [ S15]

93 = 0: 462 (7.0/3.4)

93 = 1: 464 (3.0/2.1)

Suber[S16]

145 = 1: 401 (2.0/1.8)
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145 = O0:
| 6 4
| 6 4

I
=
=
(o]
N
~—~ ~
w P
o
-~
N
(o]
N—r

Subtree [S17]

64 = 0 464 (8.0/2 )

64 = 1 462 (2.0/1.8)

Subtree [ S18]

36 = 1 250 (12.0/8.6)

36 = 0

| 99 = 1: 242 (24.0/12.2)

| 99 = 0:

| | 0: 427 =83.0/51.6)

| | 11 = 1: 413 (4.0/3.1)

Subtree [ S19]

H

N
1

o

427 (14.0/10.6)
272 (2.0/1.8)

H

N
1

H

Subtree [ S20]

0: 533
427

e
~ ~
~ ~
T

Subtree [S21]

156 = 0: 533 (303.0/161.5)
156 = 1: 493 (2.0/1.38)
Subtree [ S22]

215 = 0 413 (7.0/4.4)
215 = 1: 250 (2.0/1.38)

Subtree [ S23]

99 = 1: 789 (3.0/2.1)

99 = 0:

| 52 = 1: 464 (4.0/3.1)

| 52 = 0:

| | 308 = 1: 274 (2.0/1.8)
| | 308 = O0:

| | | 205 84 = 0
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| I

| | 64 & 0: |

| | | | | 36 204 =
| | | | | 36 204 =
| | | 205 84 = 1:

| | | | 207 = 0: 401
| | | | 207 = 1: 460

Subtree [ S24]

64
6 4

0: 789 (4.0/2.2)
11238 (3.0

Subtree [ S25]

99 = 0: 789 (83.0/61.3)

99 = 1.

| 56 = 1: 789 (8.0/5.4)

| 56 = 0:

| | 93 = 0 532 (15.0/10.7)
| | 93 = 1 009 (4.0/1.2)

Subtree [ S26]

177 = 0: 533 (
177 = 1: 789 (

Subtree [S27]

1
o

11 780 (130.0/61.4)
11 = 1: 250 (4.0/2.2)

Subtree [ S28]

0: 401 (25.0/15.2)
© 780 (8.0/5.4)

H

=
I

=

Subtree [ S29]

177 = 1: 564 (7.0/6.1)

177 = 0:

| 65 = 1: 401 (2.0/1.8)

| 65 = 0:

| | 36 = 0: 558 (93.0/28.6)
| | 36 = 1: 460 (3.0/2.8)

Subtree [ S30]
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177=9@:
177 93 =
Subtree
36 = 1:
36 = 0:
| 275
| 275
I I

I I

I I

I I

Subtree
215 = 0:
215 = 1:
Subtree
270 = O0:
270 = 1:
Subtree
36 = O0:
36 = 1:
| 204
| 204
I I

I 8l =
Subtree
64 = O0:
64 = 1:
Subtree
44 = 1:
44 = O0:
| 215
| 215
Subtree

97

789 (8.0/6.3)

1: 558 (5.0/3.2)

[ S31]

401 (910.0/572.6)

= 1: 246 (3.0/72.8)

= 0:

160 = 1: 462 (8.0/4.5)
160 = 0:

| 204 = O0: 401 (75.0/54.2)
| 204 = 1: 571 (8.0/6.3)
[ S32]

250 (19.0/78.0)

401 (3.0/1.1)

[ S33]

401 (26.0/21.8)

464 (2.0/1.8)

[ S34]

246 (81.0/63.1)

= 1: 250 (3.0/72.8)

= 0:

308 = 0: 401 (13.0/8.7)
130250 (2.0/71.0)

[ S35]

009 (18.0/14.6)

462 (3.0/2.8)

[ S36]

493 (5.0/74.1)

= 0: 465 (854.0/560.1)
= 1: 464 (3.0/1.1)

[ S37]



304 = (3. .
304 = 1: 493 (4.0/3.1)

Sutbet r[eS38]

93
93

I
H
I
()]
(6]
—~~
O N
o
~
(6]
(6]
o

Subtree [ S39]

273 :
273 = 0:
| 93
| 93

1
H
N
o
N

—~~
o
o
~~
N
w

N

0: 464 (141.0/90.4)
462 (8.0/5.4)

I
[EY

Tree saved

Evaluation on training data (9893 items):
Before Pruning Af ter Pruning
size Errors  Size Errors Estimate
1843 4697 (47.5%) 1155 4888 (49. 4%) (57. 6 %)
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